AGRICULTURAL ENGINEERING

PAPER = 11
1. At STP, one gram of hydrogen occupies a volume of
(a) 9.4 litre (b) 10.5 litre
(¢) 11.2litre (d) None of the above

2. In an adiabatic process which of the following is correct ?
(a) q=AE+W (b) AE=q
() pAV=0 (d q=0

3. The change of state of a gas with respect to pressure and volume, when temperature
remains constant, is called

(a) Charle’s law (b) Boyle’s law
(c) Ottocycle (d) Diesel cycle

4. A diesel engine works on the principle of
(a) variable pressure cycle (b) variable volume cycle
(c) constant pressure cycle (d) None of the above

5. The specific heat at constant pressure of a real gas
(a) increases with increase in temperature
(b)  Decreases with increase in temperature
(c) Remains constant with increase in temperature
(d) None of the above

6. A steam engine is an
(a) LC. Engine (b) Compression ignition engine
(c)  Spark ignition engine (d) External combustion engine

7.  An adiabatic process takes place at
(a) constant heat (b) constant enthalpy
(c) constant temperature (d) constant pressure

8. A process in which volume of a system remains constant is called
(a) Isobaric process (b) Adiabatic process
(c) Isochoric process (d) Isothermal process

9.  For the same compression ratio efficiency of Otto cycle is
(a) same as diesel cycle (b) more than diesel engine

(¢c) less than diesel engine (d) None of the above
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(a) q=AE+W (b) AE=q
(c) PAV=0 d g=0
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(c) TSI FH (d) IR T FHIE TN
10. A perfect gas at 27 °C is heated at constant pressure till its volume is doubled. The final
temperature of the gas will be
(a) 54°C (b) 327°C
(c) 600°C (d) 654°C

11. A closed thermodynamic system is a system of fixed
(a) Energy (b) Mass
(c) Temperature (d) None of the above

12. The latest heat is the amount of heat transfer required to cause a phase change in unit mass
of a substance at a

(a) constant pressure (b) constant temperature
(c) Both of the above (d) None of the above

13. The second law of thermodynamics leads to a property called
(a)  Entropy (b)  Enthalpy
(c) Heat (d) Work

14. In an Isothermal process
(a) Temperature increases gradually (b) Pressure remains constant
(c) No change in internal energy (d) Volume remains constant

15. The function of following fittings in boiler is to regulate the flow of water
(a) stop valve (b) feed check valve
(c) safety valve (d) Blow off cock

16. Thermal efficiency of a diesel engine is about
(@ 4% (b)  54%
(c) 60% (d) 34%

17. The cetane number is the percentage of cetane in the mixture of cetane and Alphamethyl

nepthalene by
(a) Weight (b) Mass
(¢c) Volume (d) None of the above

18. Power available at the crank shaft of the engine is called as
(a) BHP (b) THP
(c) FHP (d) None of the above

19. In adiesel engine, the duration between time of injection and time of ignition is called
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(a) period of ignition (b) delay period

(c) explosion period (d) burning period
10. 27° W UH R 79 i FRR I W TG O[T &1 7 T fHIT ST & | 79 1 3TaH A==

B

(a) 54° e (b) 327° WeuE

(c) 600° T2UE (d) 654° G2
11. U &< ST Tideh a1 (R a=T &

(@) St (b) TEAH

(c) dmaH (d) SWedH 9 HE Tel
12. T 57T, ot UsTel o SohTe SeaT oht STaIR UiRaTciT o ToT STTeedeh ST TAHIaRoT hi T €, 7

et &

(a) FERIEW (b) TER aoHE ®
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(a) OH 9R-4R Sgar g | (b) TEfERTEAR |

(c) 3= FeTl | agerel et eiel | (d) T ferR e |
15. =FeR | f=tefiad fwicT o1 s & art ol 9RT o (Haf=d &

(a) wWEEaeed (b) TIE IF AT

(©) Wwlawea (d) =i SE wH
16. STl S5 ! SSHIT ST STH Bl &

(a) 44% (b)  54%

(c) 60% (d) 34%

17. €T o FACHITHATTA TFIAM b 00T H FieT ol TTawrd G Tw eidl

(a) HRERT (b) HETERT

(c) 3TIH ERT (d) SWedH 9 HE Tel
18. 3T % %heh VTR TR SUCT ST ohl hadl &

(a) oedt (b) STETE
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20.

21.

22,

23.

24.

25.

26.

27.

28.

(a) S i A (b) Toea arafy
(c) fommieT araty (d) T&F ey

The thermal efficiency of a theoretical Otto cycle
(a) increases with increase in compression ratio
(b) increases with increase in isentropic index
(c) does not depend on pressure ratio

(d) follows all the above

Work done in a free expansion process is
(a) Zero (b) Minimum
(¢c) Maximum (d) Positive

The value of universal gas constant in SI unit is
(a) 0.8134 J/mole/K (b) 8.314 J/mole/K
(c) 8314 J/mole/K (d) 83.14 J/mole/K

Delta represents

(a) acrop total depth of water required by
(b) seasonal water requirement

(c) daily water requirement

(d) monthly water requirement

Minor irrigation project have cultural command area
(a) less than 2000 hectares (b) 10,000 hectares
(c) 2000 to 10,000 hectares (d) 1500 hectares

At permanent wilting point soil moisture tension is
(a) 5to 50 bars (b) 50 bars
(¢) 5to 10 bars (d) 7 to 32 atmosphere

A tile drainage system consists of
(a) tile drain (b) submain
(c) drainage outlet (d) All of the above

A drainage canal discharges 0.2 m’/sec of water from 250 hectares area, the drainage
coefficient of the land will be

(@) 2mm (b) 7 mm
(¢c) 10 mm (d 7cm

If the net amount of irrigation is 8 cm and field efficiency is 75%, the gross amount of
water to be applied to the field will be
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20.

21.

22.

23.

24.

25.

26.

27.

28.

(a) 10.66 cm (b) 8.75cm

(¢) 10.66 mm (d) 8.75 mm

TGT~eh ATl TTEfehet T SEHIT T&TaT

(a) GUIeT U & S & TgdAl € | (b) FHUZYS HTAF & TG+ & TgaT & |
(c) T U W &l FTHR AT E | (d) SR TN FD EATE |
T TaTer TR0t Uishan B foha g a1 il Bl €

(a A (b) FiaH

(c) sk (d) THNHE

IFE T e T A .37, (SI) gz A grar

(a) 0.8134 J/mole/K (b) 8.314 J/mole/K

(¢) 8314 J/mole/K (d) 83.14 J/mole/K

T TR T &

(a) U HEA I TIR &I e ot Ul Bl TEE
(b) UH HEH H (FTA ) I i STETHAT
(c) Wfare= 9t sl 3TMavarehal

(d) WHEHER I STEvaehar

T T RESHT § shoeel HHS TRAT gl &

(@) 2,000 R F FH (b) 10,000 BFZR

(c) 2,000 F 10,000 TR (d) 1,500 &FR

TRATE fafeaT W=z T a1 =8t 6t a1l e &

(@ 5¥50F () 508K

(c) 5¥10aR (d) 79 32 IgHEcg I
FIEGRE AR o R R

(a) eTEAZA (b) FEEA

(c) TTorl amzecte (d) ST g

250 EFAR &1 i STeT T e 0.2 HiY/A. Y S T STof (e el &1t 3TIae T[ulish g
(a) 2. (b) 7

(c) 10 o (d) 79

Iig TE=g &l 7 AT 8 W41 97 Wies ge7ar 75% g af &3 ! =g & [ Yeher O <Rl 913 gt
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29.

30.

31.

32.

33.

34.

35.

36.

37.

(@) 10.66 T4 (b) 8.75 9.4

(c) 10.66 F.5. (d) 8.75 m.m.

The velocity of water through pipes and open channels may be estimated by
(@) Chezy’s formula (b) Manning’s formula

(c) by (a) & (b) both (d) None of the above

A centrifugal pump has a discharge of 5400 litres per minute with total head of 20 metres.
If the overall efficiency of the pumpset is 64 percent the size of the required electric motor
will be

(a) 24HP (b) 37.5HP
(c) 28HP (d 20HP

If gross irrigation is 15 cm and irrigation efficiency is 80%, then net irrigation will be
(@ 10cm (b) 12cm
(¢c) 15cm (d 19cm

Evapotranspiration is directly measured by
(a) Penman — Monteith method (b) Blaney-Criddle method
(c) Penman Method (d) Lysiemeter method

The gauge used to measure the depth of flow over a weir is located upstream of a weir at a
distance of about

(a) twice the approximate head (b) thrice the approximate head
(c) four times the approximate head (d) equal to approximate head

For medium loam soils, the length of the border should be
(@ 60-120m (b) 100-180m
(¢c) 150-300m (d) 300-500m

For better uniformity of water application in sprinker irrigation percent overlap should
(a) decrease with the increase in wind velocity

(b) increase with the increase in wind velocity

(c) bes50%

(d) be70%

If ‘9’ be the curvature angle of an open ditch the radius of curvature (r) of the open ditch
in metres can be calculated using the formula

(a) R =15/51n(6/4) (b) R =15/5in(6/2)
(¢) R =15/cos(6/4) (d) R =15/cos(0/2)

20 — 40 rule is used to compute the
(a) head loss in a drainage pipe
(b) slope of drainage ditch
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29.

30.

31.

32.

33.

34.

35.

36.

37.

(c) design discharge below the function point of the ditch
(d) hydraulic radius of drainage ditch

GeAt Aferal Td qrgd § STt JalTe i i A R Gohdl &
(a) STl GHIHIOT FRT (b) AT FHETOT gRT
(c) SWiad (a) d (b) 341 §RT (d) ST H F HE TR

T T T TRt fosie (Tewmmst) 5400 ofiex wid fae & @ $ef 8 20 Wex § &t 9ot &q
ST eI TleX 31 SR A FY ATS THHE & FexdT 64% &

(a) 24 Tedl (b) 37.5 w=dt

(c) 28 T=mr (d) 20Ty

Ifs et Fae ot O 15 BT § 3R e e 80% € o I Fee ot e g
(@ 10 9.4 (b) 12F.T.

(c) 1534 (d) 199
STSHTeqST i G 7= ot fafy &

(a) SFEA-TERY fat (b) wA-ge fata

(c) U Tt d) wrEe ot

FER FRT &t U STt ht SHaTe AT o foTl A7 FTeR o 3R 7ot ohi S7alTe o SITeT
(a) A TOR AT T e | (b) TR e ST E |
(c) IRTATARGATS@E | (d) =RER I R TSI e |
Hegw grae et o e Ugt ot g gl =ien

(@) 60-120 m (b) 100-180 m

(¢) 150-300 m (d 300-500 m

Fea T e fafy & ues g STet fereor & feru stfaeamam ufaere (3tfeetd uiaerd)

(a) g AT TG o WY T AMET | (b) A AT T % T Tl AT |

(c)  50% T =eT | (d)  70% BT =eT |

fepalt agett STot TehTet Tt FSTaehT kel hI0T 9° & ot Hiet | okl B (R) T St 61 G &
(@) R =15/sin(6/4) (b) R =15/sin(6/2)

(c) R =15/cos(6/4) (d) R =15/cos(6/2)

20-40 T2 R 37 o ST &
(a) SToT (eRTT UTET | IS ThAM (Head loss)
(b)  SToT FehT AATEAT T &TeA
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(c) SToT T ATett o SR fog o it fesTre ware X
(d) STt TR et =i geig freem
38. The spacing of mole drain varies from
(@ 15t0o2.5m (b) 10-15m
(¢c) 12-13m (d 5-10m

39. The drainable porosity of clay soil varies from
(@) 10-15% by volume (b) 18 —-35% by volume
(c) 3-11% by volume (d) 15-20% by volume

40. The relationship between porosity (n) and void ratio (e) is given by

e n
(b) €=1_n

(a) n=7
!

+ +
o o

(¢c) n= o (d) Both (a) and (b)

41. In sprinkler irrigation normally water application is considered to be satisfactory when
(@)  Uniformity coefficient (Cu) is 100 percent
(b)  Uniformity coefficient is 80% or above
(c)  Water is uniformly distributed
(d) All the above

42. The depth of flow over a sharp crested rectangular weir should not be more than
(a)  width of weir (b) half of the crest width
(c)  two-third of the crest width (d) three-fourth of the crest width

43. A soil sample has a porosity of 40 percent, its void ratio is
(@ 0.06 (b) 028
(c) 040 (d) 0.66

44. Minimum slope of an earthen channel for polyethylene lining is
(@ 1.5:1 by 2:1
(c) 25:1 @ 3:1

45. The principle of working of a meter gate is
(a)  Free flow circular orifice (b) free flow rectangular orifice
(c) submerged flow circular orifice (d) submerged flow rectangular orifice

46. The capacity of major distributory in India usually varies from

Series-A 10 SES-10



38.

39.

40.

41.

42,

43.

44.

45.

46.

(@) 0.75t0 5.5 cusec (b) 4.0to 8.5 cumec

(c) 4.0to 8.5 cusec (d) 0.75to0 5.5 cumec

HieT STet F1eh1 o &l i g4 Bl €

(a) 1.5¥2.5H (b) 109 15t

(c) 12F| 134 (d) 5910

gt (Clay) fogt sht Stet ferrg Sieem el €

(@)  10-15% 3T & STER W (b)  18-35% 3TIA & 3MMYUR T
(c) 3-11% 3Tad & TR W (d) 15-20% 3Ta & 3TER T

R () SR AR (¢) 3 dr de i

€ n
® e=77,

(a) n=7
1

+ +
o o

(c) n= (d) = () AR (b)

(&

& o wear Uga ol § UT: U 24T ol EalssTeh JET S € Sl

(a)  UHHRAT oM 100% &t (b)  THARAT Uik 80% AT F &
(c) U THH w9 § faqrd & (d) S g

MY HACS STAATHR [TaX | 532 & HU T ol TeTE 3T 2RI T8l g1 N8y

(a) IR =t e & RN (b) T T TSTS T 37T

(c) T =l TSR & fere (d) T SIS A TS
TS T T i TR 40 U9 &, THRT o ST &

@) 0.06 (b) 0.28

© 0.40 d)  0.66

Ureigeret o (i) & fere fagt st Tiferat =1 =g=a &t &

(@ 1.5:1 by 2:1

(c) 25:1 d 3:1

Tsh HieY T2 o 1 i 1 (9gid €

(a) TAHATEE ST AT 3T RTERST (b) TdATEE ST ST 3T RIS

(c) TEHSTS FETd aTelt JThR 3T RIHET (d) TEESTS T8 oAl IR 3w

IR o9 B 7 feeiegedt ht eTHaT U Sserdl &
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47.

48.

49.

50.

S1.

52.

53.

54.

5S.

(@) 0.759 5.5 F8F (b) 4.0F 8.5 FHF
(c) 4.0¥8.5FAH (d) 0759 5.5 FHF

Laminar flow condition in open channel exists if the Reynold’s number is less than
(@ 500 (b) 2000
(c) 1500 (d) 1000

How the emitter flow varies with kinematic viscosity in non-orifice type emitters ?
(a) Directly proportional (b) Inversely proportional
(c)  Square root of kinematic viscosity ~ (d) None of the above

A parshall flume can be used conveniently on
(a) flatter grades (b) mild slopes
(c) both (a) and (b) (d) None of the above

A cut throat flume is a modified form of
(a)  Cipolletti weir (b) Parshall flume
(¢) H-flume (d) None of the above

Wheat crop requires 45 cm of water during 120 days of its irrigation period. The total area
of land irrigated with a flow of 20 Ips for 22 hours a day shall be

(a) 102.24 ha (b) 42.24ha
(c) 204.24 ha (d) None of the above

Sides of an earthen channel will be stable if its slope
(a) does not exceed the angle of repose (b) exceeds the angle of repose
(c) 1is kept same as angle of repose (d) None of the above

The best hydraulic cross-section of a trapezoidal channel under favourable structural
condition is

(@ b=2d (b) b=d2
(c) b=2dtan6/2 (d b=4d

The average power coefficient of the standard USWB class A pan evaporimeter used for
evaporation is

(@) 085 (b) 0.70
() 0.90 (d 1.00

In check basin design the useful thumb rule is that the ratio of water spread time required
to cover the entire basin to the time required to infiltrate the net depth of irrigation is

Series-A 12 SES-10



47.

48.

49.

50.

S1.

52,

53.

54.

5S.

(@ 025 (b) 0.75

(c) 2.00 (d) None of the above
Gt el § AR warg feafa e st st Free Jo) &9 &

(a) 500% (b) 2000 &

(c) 1500% (d) 1000 &

-3 R TR % THIEX B STeT UdTe Tt AT o o S1ard J ket & ?

(a) 9 STUa o (b) I U H

(c) TSt YA & ST | (d) ST H HIE T
Torey Tt H Tt wop STt & ST fofam ST |ehelt € 2

(a) T WHAOA U W (b) Th AW

© ()™ (b)SHI W d) SwEH Qg T
H P FoIH GO Y &

(a) Touree faaR = (b)  TTSTeT %I
(c) TI-TIHH (d) SWEdH 9 HE Tel

T o BEA B 120 f57 1 Famg srafy & IR 45 QAL G B SR Bl § | Teh 20 X
TTq YhUE o UaTE X 9 22 He Uidie o &ae & foha- &iswer ot (=g g ?

(2) 10224 TRR (b) 4224 3T

(c) 204.24 TR (d) SHEFTH 9 HrE @

e et ek 2 < I () el 2 i e e

(a) SEE BT Y ATH T &l (b) TEE HIUT Y AT &

(c) &S HIV o THM TG T &l (d) ST HEQ HIE T

T U AT & FaraH STeltd S e & ot e 5 § i | gifeid suge ¢ ?
(@ b=2d (b) b=dR

(c) b=2dtan6/2 d b=4d

A STARE Hrad =3 o A S07 & U STSHRIOT T, ST STIehRoT A9 o foTd ST | ST ST
&, o1 3G O T[Tk Bra &

(a) 0.85 (b) 0.70

(c) 0.90 (d 1.00

e e it festrest & Arr= fem =1 & foh qR oret ® STet T heltd 811 | o ATt 99 | 3T
T Toma FRT Freme Ot <Rt B[ TR R U S W O STel THY S ST B E
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(a) 0.25 (b) 0.75

) 2.00 (d) IR T FIE TN
56. In drainage projects the design return period usually ranges from

(a) 5-25years (b) 25-50 years

(c) 50-75 years (d) 75-100 years

57. Steady state drainage design equation assumes that the drain discharge —
(a) exceeds the recharge to the ground water
(b) equals the recharge to the ground water
(c) Both(a) & (b)
(d) None of the above

58. Saline soil has a pH value
(a) >8.5 (b) Equalto 8.5
(c) 8.5t010.5 (d) less than 8.5

59. The thickness of a spillway apron depends on
(a) Hydraulic jump (b) Water velocity
(c)  Uplift pressure (d) All of the above

60. Darcy’s law is valid for
(a)  Turbulent flow (b) Laminar flow
(c) Both (a) and (b) (d) None of the above

61. If the speed of a centrifugal pump is doubled, the power required will be increased by
(a) 2 times (b) 4 times
(c) 6 times (d) 8 times

62. The maximum non-erosive velocity of a water stream which is used for designing furrows
laid at 0.2 percent longitudinal slope should be

(a) 1 litre/sec (b) 3 litres/sec
(c) 4 litres/sec (d) 5 litres/sec

63. Blinding of tiles refers to
(a)  trenching of the drains (b) laying the tiles
(c) joining the tiles (d) covering the tiles with loose earth

64. From the hydraulic efficiency point of view, the most efficient cross-section of an open
channel is
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56.

57.

58.

59.

60.

61.

62.

63.

64.

(a)  semi-circular (b) trapezoidal

(c) parabolic (d) rectangular
Tot ferTet afarsrTett § Stfiehfead IrRTgd shiel AreRuTa: e g €
(a) 5-25499 (b) 25-50 T

(c) 50-7599 (d) 75-100 =S

AR TTE Tl STeT el STYRI0T FHERUT § 98 URehedT & Toh STo Heht yae Jetel
HRT & Hehrael

(a) Sfumedre | (b) TRIREAE |

(c) S A (d) ST H G Hig @l
Teh SO a1 1 pH W1 &iell &

(a) >8.5 (b) 8.5 F R

(c) 859105 (d) 853FFHH

U Foeta Uy i 9reTe e el €

(a)  EEgIicT T W (b) OISR

(c) 3TUfTHe UIR W (d) S at

2T o | A

(a) 3 VAR F fow (b) AR waTe & ford

(c) (a)d(b) THIF o/ d (d) IR H G I Tl

IS Tk SIS 1T THT <Rl T <Rl ST AT TohaT ST & o 3ok Aot & ST VIR a1 STl §
(@) T (b) =R

() B (d) SRS

%g ToTeeRt e # ot 0.2 Wiaerd &, SHeh! TesTed i o ol SToTeRT shi STfeeha™ fo=T Fera
et (AT FTEa) T 8T =feq

(a) | clev/dswre (b) 3 A/ AFTE

(c) 4TA/AFTS (d) 5 c/AFTS

ZTeAT T LR il &

(a) gAHTE (b) e i faum 9

(c) TEell i Sire+ @ (d) et H 315 gu1 (F[F el ¥ g 9

el ST o e @ et ATl i STfshd™ 587 ST e &l &
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(a) 319 TEHR (b) FTHTHR

(c) TRACTATHR (WRTETeTh) (d) AR

65. The depth of flow over a sharp crested rectangular weir should not be more than about
(a)  half the crest width (b)  two-third of the crest width
(c) three-fourth of the crest width (d) the width of the weir

66. Spike tooth harrows and spring tine harrows are classified as
(a)  disk harrows (b) drag harrows
(c) blade harrows (d) None of the above

67. The process of separating grains from a mixture of grain and chaff in an air stream created
artificially or naturally is called

() Winnowing (b) Threshing
(c) Harvesting (d) None of the above

68. The olpad thresher is pulled by
(a)  Tractor (b) Pair of bullocks
(c) Power tiller (d) None of the above

69. Fluted roller of a seed drill is driven by
(a) Rectangular shaft (b) Square shaft
(c) Round shaft (d) None of the above

70. The subsurface tillage tools that work at a shallow depth and do not turn the soil are called

as
(a) Disk plough (b) Ridger
(c) Sweeps (d) None of the above

71. A mower knife is said to be in proper registration when the knife section stops in the
(a) left side of the guard (b) right side of the guard
(c)  behind the guard (d) centre of the guard

72. Disc angle adjustment influences
(a) Depth of cut (b) Width of cut
(¢)  Soil break up (d) Direction of travel

73. The cutter bar of a tractor operated mower ordinarily makes
(a) 800 — 120 strokes/min (b) 1600 — 2000 strokes/min
(c) 2400 - 2800 strokes/min (d) 3200 - 3600 strokes/min

74. The type of furrow opener recommended for use in hard or trashy ground and in sticky soil
is
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65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

(a) single disc type (b)  stub runner type

(c)  full or curved runner type (d) hoe type
Teh THE0T et I (I Sheee) AR [ § I o S&1d ol el 7 § & fmad a1iueh Tai

e e ?

(a) THE I TTSTE I e (b) THE HI TATSE FI 3I-fTerE

(c) THhE I ASTE HT AH-TATE (d) TR Pl @IeTE & R

et SR & T T 212 831 o1 aTiTehoT 831 o fT8 We o =Tl A1l &, e &
(a) AR (b) T

(c) =seq (d) U H 9§ i T
STehTdeh a1 T a1 TaTe §RT 3T 7 9 o TH01 @ SISt i goreh o i 9 sheetrdl &
(a) eTEA! (b) TEE

(c) e (d) STEH Y FE T

IS FIR G ST &

(a) SHRIEW (b) et =SS FRT

(c) UeR feer g/ (d) SWiedH § IS @l

Tre fgot 1 Felee UoR fohd e ST e ST € 2

(a)  SAIARR (b) MHR

(c) e (d) ST H 9 Hig @l

I & 3R 1 FA AT S[ATE T S 9T § A TS W HE A & a9 (951 el goted,
FEAT &

(a) TARREA (b) TR

(c) WU (d) ST H G IS Tal
Teh HIeR 1T 3ok Feaf # & A1 TRLTH | & Safeh A2t T e &

(a) ST TRE T &l (b) T A Thl &

(c) U EhaTal (d) TaH EFaE

feter UTTeT o1 AT Yeiferd il &

(a) o oS (b) FEH EEE

(c) TR fomed (d) 3T Y ST TE I g9
ST AT BT FeTe I (FaR) il e TR [ERUIE: Fl &

(a)  800-1200 iFa/fH—e (b)  1600-2000 /TS
(c)  2400-2800 wr=d/fHe (d)  3200-3600 /M

FHIAR AT T (STt arett) 3R Faept Tet arelt gf & fow St $e @ieH et (F$ 3TR) 7@ §
AT A &, 6 &
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75.

76.

77.

78.

79.

80.

81.

82.

83.

(a) el f's®h WP (b) WA TR TR
(c) X1 AT TSHTHR TR YR (d) T (&) TR

Vertical suction of a plough influences

(a)  pulverization (b) depth of cut
(c)  width of cut (d) direction of pull

For maximum moisture conservation ploughing is done with
(a) MB plough (Mould Board Plough) (b) Cultivator
(c)  Chisel plough (d) Disc harrow

The application rate of ULV sprayer per hectare is
(a) upto S litres (b) 5-100 litres
(¢) 400 litres (d) None of the above

The vertical distance between the point of share to the beam of plough is called
(a)  the vertical suction (b) throat clearance

(c)  horizontal suction (d) None of the above

The machine used for cutting grasses is known as
(a) Reaper (b) Mower

(c) Windrower (d) Combine harvester

Which one of the following is not a primary tillage equipment ?
(a) Meston plough (b) Disc plough
(c) Desi plough (d) Cultivator

The type of bearing generally used to support the disc on a standard disc plough is
(a) Ball bearing (b) Tapered roller bearing
(c)  Plain roller bearing (d) Bush bearing

Material used for manufacture of cultivator shovel :
(a) Brass (b) Gun metal

(c) Mild steel (d) Chilled cast iron

The two types of cylinders used in wheat power thresher are
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(a) serrated disc and rasp bar (b) spike tooth and wire loop type

(c) spike tooth and hammer mill (d) hammer mill and flails
75. &1 I SeATER 0T (TCshet THT) Teqiferd et &
(a)  THS! T q HEAT (b) e P TERTE
(c) TSHITEE (d) g =i fgem
76. ST THT &7 % TTU STATE i STl &
(a) TSI Uoie &t (oS o &a1) | (b) FRER T
(c) foawrsd (d) fe=reud
77. I TA S TR H UM gFRTR YT IR E
(a) 5 aH (b)  5-100 TR
(c) 400 wfex (d) U H 9§ i Tl
78. &1 % WA & Ak 3R & (FW) & o= ol @St g Fedd &
(a) SETER 0 (b) s e
(c)  &ifast g (d) ST Y I T
79. o8 Hit I ST o S T B H YT H ST §, 39 Fed €
@ W (b) W=
(c) fogier (d) T - BRERX
80. =15 T 1= |1 v Squrhor I &1 € ?
(a) WERATA (b) TERR A
(c) =EMEA (d) FRER
81. UF MY TORR & W &%k il TERT 37 & o0 W= foh UehR ol ToaiaT ol S&adTer &rar
£2
(a) et T (b) 2US Tor foaT
(c) i TeR faafi (d) o feriar
82. oeeR o VET I H {ohd 9T T VAT grar & 2
(a) et (3m9) (b) &I A1 (T HeA)
(c) T3 T (AIEes Riet) (d) gasiitad get oiel (faee $re 3TRA)
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83.

84.

85S.

86.

87.

88.

89.

90.

91.

IR =i € o 9¥R W 31 YR & fafer=ex wanT e &
(a) GRS feh 3R T R (b) TEH 2 3R TR T[T THFR
(c) TS 2 3R & foer (d) TR et IR wre

A 2 m combine is operating at 4 kmph with an overall efficiency of 75%. The area covered
by it (ha/h) will be

(@) 0.6 (b) 1.0
(c) 0.8 d 04

A thresher causes more seed damage if
(a) feed rate is increased. (b) clearance is increased.

(c) speed is reduced. (d) speed is increased.

Power sprayers are operated at a pressure
(a) 22-55kg/m? (b) 10 - 20 kg/m?
() 5-10kg/m? (d) less than 5 kg/m>

The optimum operating speed of a rotor in a rotavater is
(a) more than 500 rpm (b) 350 -500 rpm
(¢) 150-350 rpm (d) 20-150 rpm

A subsoiler is best suited for
(a) shallow ploughing (b) intercultivation
(c) breaking hard pan (d) All of the above

The operating speed of power sprayers varies from
(a) 4.8—8kmph (b) 10 -20 kmph
(¢) 15-30 kmph (d) 20-30kmph

Angle of seed hole displacement for picking seed by seed plate in a pneumatic vegetable
planter for sowing radish is

(@) 7.5° (b) 15°
(c) 22.5° d) 30°

Concavity of disc in disc harrow causes effect on _
(a) penetration (b) pulverization
(c)  depth of furrow (d) Dboth (a) and (b)
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92.

84.

8s.

86.

87.

88.

89.

90.

91.

Tilt angle is associated with

(a)  Cultivator (b) Disc plough

(c) Mould board plough (d) Rotavator

T 2M FHETET 75% et e o A 4 FReAHieR Ui HeT ¥ =t Wl € o Uid HeT A arwet

(FFAX) QU HT ?

(a) 0.6 (b) 1.0

(c) 08 d 0.4

T FIR T 3TTH FHT h &7 HT HROT &

(a) IS HA I M SARTE | (b) TFRTETNE |

(c) TAFABTER | (d) TATETEE |

iRt Aferd SRt fohd JaTe W S i € 7

(a)  22-25 T ufq =t . (b)  10-20 .. wie = .
(c)  5-10 fep.om. wfer = =, (d) 5o ufaart 4. @ %9
JeTaeR | e T i STHe T el &

(a) 500 TR UTq e | 31fesh (b)  350-500 TFH UTdT o
(c)  150-350 TR UTd e (d) 20-150 TR UId T
Th JI-WHY a9 ] 6“I<‘I|‘i\| %

(a) YA S o feu (b) 3T Y0 % forw

(c) el THgl il W dred & ferd (d) SwRi T

TR B2 ol A 1 &

(a) 4.8-8 Th.4./eeT (b)  10-20 fo.Ht./5eT

(c)  15-30 fep.Hr./aaT (d) 20-30 fp.4r./5eT

=Jafesh Ssfieaet wiier §RT “Hell” ot Jare o e aist {5 faene= st st 6 st ot &t wie gR
33 (T 379) FXA o {0 31l &, 1 HI0T Bl &

(a) 7.5° (b) 15°

(c) 22.5° (d) 30°

et 20 ° et ol 3rerdorar qHferd oidt &

(@) SR (b) ST
(c) &S T B (d) (a) = (b) T
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92, feoe UfiTer Weife &
(a) THREX Y (b) TERREAY
(c) MEiuesad @) TeERd
93. The planter which works on suction principle is
(a) pneumatic planter (b) inclined plate planter
(c) seed planter (d) none of the above
94. The drawbar pull of a tractor is measured by
(a) Hour — meter (b) Hydrometer
(c) Dynamometer (d) Current meter
95. The procedure for testing the seed drill for correct seed rate is called
(a) calibration of seed drill (b)  seed drill testing
(c) evaluation of seed drill (d) None of the above
96. The usual height of paddy stabbles after combine harvesting is
(@ 15-20cm (b) 30-60cm
(¢c) 60-70cm (d) More than 75 cm
97. Deep ploughing is done beyond depths of about
(@ 10-12cm (b) 12-15cm
(¢c) 15-20cm (d >30cm
98. The tilt angle (in degree) in standard disc plough is
(a) 15-25 (b) 26-35
(c) 36-45 (d) 46-60
99. Salvage or Junk value of a machine is
(@) 5% of initial cost (b) 10% of initial cost
(¢) 15% of initial cost (d) None of the above
100. Scouring ability of a tillage tool is affected by
(a) coefficient of soil — metal friction (b)  soil cohesion
(c) soil adhesion (d) All of the above
Series-A 22
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101.

(a) 60 degree (b) 70 degree

(¢) 90 degree (d) None of the above
93, o WIS STt 0T & (GG I B Al ©

(a) ~IHTCH wieX (b) 2Td ©IE (TTHAES ©I) T

(c) e iR (d) SUgF H @ HE Tl
94, %X I GIER Ta=e 19T ST €

(a) EITHX (IR HX) 4 (b) TR I

(c) SEAHHIR ¥ (d) ey
95. el &S & A1 & foru Hie fger adterr s fafy seerm &

(a) e Tgot & hicsiam (b) dre fget o1 wWietor

(c) dre fget o1 goaih (d) STEFH G HIE TEl
96. FHETE R T UM FHels & 1% U & 33 i HaTg A= &l &

(a) 1592091 (b) 309 60 9.4.

(c) 60% 7091 (d) 7594 @ et
97. TR S[TE TR fRE RS | SATET W i A & 2

(@) 10-12 9.4 (b) 12-15 W4

(c) 15-20 9.4 (d) >309.H
98. WM (FsE) TSR & I Zehra hiv7 (Teaft &) i &

(@) 15-25 (b) 26-35

(c) 36-45 (d) 46-60
99, ferdt Tl T QeasT A1 HeTE Hod Bl &

() &IE qed 5% (b) & T H 10%

(c) WRRYeF 15% (d) ST H 9 Hig @l
100. T S[ATE 51 1 FE07 770 geqrferd e &

(a) YIT-4Tq o THUT [0 W (b) T FIE W

(c) WSl (d) SWI gt
SES-10 23
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101.

102.

103.

104.

10s.

106.

107.

108.

109.

T WY 2127 o FHoeidex F I () Hiv g &

(a) 60 33 (b) 70 W

(c) 90 g (d) SWIFTH T HIE TR
The manually operated knapsack sprayer works on the principle of
(a) Hydraulic energy (b) Gaseous energy
(c) Centrifugal energy (d) Kinetic energy

Boulton’s well function is associated with semi-confined aquifer having
(a) Excessive yield (b) Normal yield
(c) Delayed yield (d) None of the above

The ratio of D, and D, sieve sizes in sieve analysis of granular material is called

(a) Well coefficient (b)  Uniformity coefficient
(c) Recharge coefficient (d) None of the above

The well development technique through pumping that can also be used for cleaning a
clogged strainer

(a) Backwashing (b)  Air washing
(c) Both (a) and (b) (d) None of the above

Leakage factor and hydraulic resistance are important properties of the
(a) unconfined aquifer (b) semi-confined aquifer
(c) confined aquifer (d) All of the above

Which of the following is a method of tubewell drilling ?
(a)  Percussion drilling (b) Rotary drilling
(c) Core drilling (d) All of the above

In alluvial formations the economical method of drilling is
(a) direct rotary (b) reverse rotary
(c) cable tool (d) DTH

Which of the following aquifer is related to the term specific yield ?
(a) unconfined aquifer (b) confined and unconfined aquifers
(c) confined aquifer (d) None of the above
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110.

102.

103.

104.

105.

106.

107.

108.

109.

By doubling the seven diameter of a well in an unconfined aquifer the discharge is
increased only about

(a) 10% b)) 2%

(c) 20% (d) 100%

Teh T TMeld 198 BIR & 1 I 1 (G5 &

(a) EE SN (b) I ST

(c)  STUH=I Sl (d) T St

Free 3t Herd (HaRH) T8 A Fhlere TR O Hated & foraehr

(a) 3T TS & | (b) THET W &l |
(c) foeitem we e | (d) SugFH Y P TRl

SHER At & For et 6 D, ) T D, | = HIEsT 1 S et ¢
(a) A IR (b)  UHETAT OIS
(c)  STOTSRUT T[UTieh (d) ST I I HIE &l

F 3T T A T T T (U gRT) S STERITad R Sl o TE A & B I @,
FEAT &

(a) SEATRET (b) TEER

(¢) = (a) T (b) (d) STE A F T
kST heeX T BTEgITereh I Fohd TR o TR oht A ferereramd & 2
(a)  FTAFHET TR (b) THI-FREE TR
(c) THHE< TR (d) o |

=1 5 @ 1 9 Forpd fgfort =it fafy & ?

(a) 3T fgfer (b) < fgfem

(c) hIX fgfem (d) SRR T
STelle f H fefenT s g adie &

(a) s (b) T o

(c) FeTZe d) =Awm

T STt 5 @ i @ faferse forma @ gaifud & 2

(a) 3TUNEF FAYd (b) URESF TN TUNES TAgq
(c) uRESF e (d) ST F F HE Tl
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110.

111.

112.

113.

114.

115.

116.

117.

118.

TS 3TUREF ST | o HU Rl STelt Sl AT 3T T A T SHAT HEAR0T (Tewrst) gt & FHia

(a 10% (b) 2%

() 20% (d) 100%

Which of the following cases is associated with surging ?

(a) Gravel packing (b) Well drilling

(c) Well development (d) Sealing of saline water

The lines joining points of equal depth of ground water level are known as
(a) Isohytes (b) Isochrones
(c) Isobars (d) Isobaths

Specific yield of clay formation varies from
(A 1-10% (b) 5-15%
() 10-15% d 15-20%

Formations that contain water but transmits water at a slow rate is called as
(a) Hard pan (b) Aquifer
(c) Aquiclude (d) Aquifuge

For a water bearing strata, the sum of specific yield and specific retension is equal to
(a) void ratio (b) porosity
(c) bulk density (d) specific gravity

This method is applicable for well hydraulics under the conditions
(a) unsteady state flow in a confined aquifer

(b) unsteady state flow in an unconfined aquifer

(c) steady state flow in a confined aquifer

(d) steady state flow in an unconfined aquifer

Based on the sieve analysis of the aquifer material, the uniformity coefficient of a uniform
material is

(a) more than 2 (b) less than 2
(c) more than 4 (d) more than 8

Diameter of a dug well varies from
(@ 2tol0m (b) S5tol0m
(c) 10to20m (d 10to15m
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119. For development of well using compressed air, the capacity of the compressor is usually

(@) 1.5 kg/em® (b) 20 kg/em?
(c) 25 kg/cm? (d) 30 kg/cm?
111. =5 | & I @ =t g ?
(a) ot 9Tt (SIS Ueh ohee) (b) o fgferT (F7 a3)
(c) ot SaeTaHe (F9 fawm) (d) TR 9 HiA AT
112, I5TeT Tg Sl THH TeTE o fag3tt st fgetm arett 3@ Feetrdt ©
(a)  3TTEE BCH (b) 3TEEHE
(c) omEHER (d) g
113. Tt gt TomT o fafere e (diee) 39 o grar &
(a) 1-10% b 5-15%
) 10-15% d 15-20%

114. T UH T TS9O 9T 50 W BT @ el € Tid @ Fehetan €, Seetl &
(a) R 4 (W) (b) SToERET &R
(c) SToridl &R (d) Tt afsTa &R

115. i SR & a8 | o7 o1 [y qre o1 fof¥re €T &79ar o1 T Heelidl &
(a) T o (b) |
(c) ¥ (d) fafere omc

116. F9 5 forzi= & < feifer st Su=iT fevet srarensti # grar e ?
(a) UREESAYdH IR YA @@ | (b)  3TURES STerygd § 4Rt JdTe & fotw |

(c) URES STOYd T URad Yae o feft | (d)  STUREs SToryd § 3TaRed! yae & ford |

117. T Segrl &R & USr (HAREe) & AgAT 1 Ao Oversur Wi guEy ustd

FEEYAT TUT 2T &
(a) 29 3AH (b) 2T FH
(c) 49 s (d) 8 3fuh
118. U @IS gU HU o1 =19 eIl &
(@) 29 10T dH (b) 59 10X TqH
() 10920 aqH (d 109 15 WX T
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119. dHifed g & T 1 [THT A & fo18 FHIR hY &A1 SR W gl &
(a)  1.50 fop.om. wfey =t @4 (b) 20 fmom. ufq =t F.4.
(c) 25 foh.um. ufq &t 9.4, (d) 30 T ufq = 9.4
120. For a watershed having streams of order 1, 2, 3 and 4 the basin order will be
(a 1 (b)) 2
(¢ 3 d 4
121. Rill erosion is the advanced stage of
(a) Rain drop erosion (b)  Gully erosion
(c)  Sheet erosion (d) None of the above
122. The Stanford model is used to
(a) estimate the soil loss (b) estimate the runoff
(c) estimate the rainfall depth (d) estimation of soil formation
123. The value of ‘c’ in rational equation is generally
(a) lessthan 1 (b) more than 1
(c) equalto5 (d) All of the above
124. The basic assumptions of unit hydrograph theory are
(a) Nonlinear response and time invariance
(b) Time invariance and linear response
(c) Linear response and linear time variance
(d) Non-linear time variance and linear response
125. The time of concentration of a watershed is proportional to
@ L7 (b) 0383
() S0385 d) L!77g0:385
126. Rational formula is used to compute
(a) Design discharge for flat land (b) Design discharge for sloppy land
(c) Design peak rainfall (d) Design peak runoff rate
127. Contour bunds are adopted in
(a) High rainfall regions (b) Low rainfall regions
(c) Highly pervious soils (d) None of the above
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128.

120.

121.

122.

123.

124.

125.

126.

127.

Class IV type lands are

(a) suitable for cultivation (b) not suitable for cultivation
(c) partly suitable for cultivation (d) None of the above

Teh STAINTH TSTEehT AfeTeht a1l 1, 2, 3 Ta 4 &, ST ST o1 o (3f1e%) eim

(@ 1 () 2

() 3 (d 4

STIATCAHT &TC0T foheehl ST 3Tereen ¢ ?

(a) ST S &ROT (b) TET &R

(c) TRAF &RoT (d) SWiedH § IS 7@l
TS TS T T fofham ST &

(a) TR &I & SThe &g (b) AR % 3Nk &
(c) ST ! TERTE & STher & (d) FII & & 3o &q
WA A H C’ 1 A, AEROET 2 &

(@ 19%A (b) 1% st

() 5% = () SWEHE TR

Ufereh STolta T Fogia ot STURYd Jd STa€Ron €

(a) 3T S/ (REUT) T I9 & Qe SR
(b) THA F W SURAAA U Iaeh ST/ SR (Radi)

(c) faeh /3 Ran (Raurg) we I Twa o qrer aREd-e
(d) RTEs gaa & QT e vd e 3a/3rihar (Radid)

SToT TeTTSTeh ST WehRUT ShTCT ST STUTC &I &
(C) 80.385 (d) Ll.77 SO.385

LT (FRETeT) T T TEANT T8 1 A o To1d et &

(a) <G Y & fesTe e ot (b) ] YT & fesTe e
(c) et dish o (d) Tt dish 3 311 32
(a) 3Tk o) aret &= | (b) T TN Tt & A

(c) e worea g o (d) U H 9§ IS Tl

SES-10 29

Series-A



128. = IV TR & STH et &

(a) T fow SugeR (b) el o foTu SuR
(c) Wt % feTu 7T ®7 ¥ ST (d) SRFTH 9 HrE @l

129. Froude number is the ratio of

(a) Inertia force to the shear force

(b) Inertia force to viscous force

(c) Viscous force to the gravitational force
(d) Inertia force to the gravitational force

130. For design of grassed waterway the average grade used is
(@ 1% ®) 5%
() 10% d 15%

131. The sheet of water which overflows a weir is called as
(a) Head (b) Static Head
(c) Nappe (d) All of the above

132. Which of the following may be used for measurement of water discharge ?
(a) By rectangular weir (b) By 90° V notch
(c) By orifice (d) All of the above

133. Isohyets are the lines of equal
(a) temperatures (b) pressure
(c) precipitation (d) None of the above

134. Erosion index is based on rainfall intensity
(@ Ijs b I
(©) I d Iy

135. A 4-hour unit hydrograph means
(a) 1 cm depth of rainfall over the entire watershed
(b) 1 cm of rainfall excess over the entire watershed

(c) a hydrograph resulting from an instantaneous application of 1 cm rainfall excess
over the entire watershed

(d) The stream flow for four hours
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136.

129.

130.

131.

132.

133.

134.

135.

A 4 hour rainfall in a catchment of 250 sq. km, produces rainfall depths of 6.2 cm and 5.0
cm in successive 2-hour unit period. Assuming the ¢ index of the soil to be 1.2 cm per

hour, the runoff volume in ha.m will be

(a) 16 (b) 22

(¢) 1600 (d) 2200

THISS ST el &

(a) SIS I H IEIUT A H (b) STgca oA | fahrdl T T

(c) Toreehmd 9/eT & THcaAThyvT et (d) ST TA Q THATHIT T Tl

HTERT STeT AT shi W= o 7T Sirad 1S fofan S &

(@ 1% b)) 5%
) 10% d) 15%

oo % S0 e aTelt I ! Wi i Fed &

(a) %s (b) feres
(c) U (d) o g

T o TaTg i AT o foru =1 9 9 fergent ot fepan stran € 2

(a) 3TFATHR o=’ (b)  90°aT AT

(c) RTwE (d) ST T

ST ETEH @ & THE

(a) O (b) TEEH

(c) =i (d) U H 9§ i Tl

3TORGT GaAhIh ST & ST ATl

@ I.® ® I,®
© I, ® @ I,®
TS 4 H T J(E BTSE I I &

(a) YUl AT H 1 9. 6 as

(b)  TYOT AT | 1 9. HI. 37fereh Tt

(c) ETESIUTE ST WYl STAmTH | 1 9. 5. 3ATeh 37wk a9 & HROT a1 8 |
(d) 4 = % a9 H
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136.

137.

138.

139.

140.

141.

142.

143.

144.

T 250 T fRAL H TATH G 4 =5 H A6, 2 HE F IWITK IHE 99T H FAL: 6.2 AL F
5 QY. 3TH gl & | g1 T ¢ FEehich 1.2 T.HY. YT 5T T gU STIaTE T SRR Hiex | STaeH
B

@ 16 (b) 22

(c) 1600 (d) 2200
‘Cox’ formula is used to determine

(a) Rainfall velocity

(b) Rainfall intensity

(c) Vertical interval between contour bunds
(d) Earth work in pond design

Contour bunds are suitable in areas having rainfall
(@) more than 1500 mm (b) less than 600 mm
(¢) 600 -900 mm (d) None of the above

The critical flow condition in a channel occurs when specific energy is
(a) maximum (b) minimum
(c) zero (d) negative

The phenomenon of removal of material from the foundation of structure through seepage
water is called as

(a) piping (b) sliding
(c) overturning (d) None of the above

For rectangular channels the minimum specific energy is
(a) 2/3 times critical depth (b)  3/2 times critical depth
(c) 5/4 times critical depth (d) None of the above

In a drop structure safety against tension can be achieved by assuming that the resultant of
the forces on the head wall pass through

(a) the middle one-third of the base (b) the left one-third of the base
(c) the right one-third of the base (d) any point on the base

On flat lands which of the following types of gullies are formed ?
(a) L-shaped (b)  V-shaped
(¢) U-shaped (d) Rectangular shaped

The spacing of check dam is kept between
(a 25-75m (b) 150-450m
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137.

138.

139.

140.

141.

142.

143.

144.

(c) 80-180m (d 75-100m

Check dams are provided with the main objective of

(a) ponding of water (b) causing upstream sedimentation
(c) to reduce channel slope (d) All the above

ST’ T T WA fehall STl € 377 et o few

(a) @S % AT (b) @ T el i

(c) THI=H I & q& SRATHR FRA B (d) ST & (9707 § GI-a9 & I hi
FHIT S 3 &3 § SUR € STel

(a) 1500 fig.of. & atferes &t (b) 600 . @ FHEl

(c)  600-900 fr.=f. & (d) SR F HE Tél

TS AT ShTT-Teh TaITE i 90 I Bl & ST foiferse St gielt &

(a) 3TIHad (b) =AaH

© A (d) FoTcHE

foret ToamT =l e 9 @ I o e g e o 31 W 31E o Sere o [T S Fhed @

() TR (b) TemEfeT
(c) st efm (d) ST H F HE T
Teh ATIATHR ATl o foTu, =g fafrse ot gl &

(a)  ShIf~Toh T&RTE 1 2/3 T[T (b)  RIT=Teh TR St 3/2 AT
(c)  SHIf~Te T&RTE Wt 5/4 T (d) S d F g T

FaTe SXaTett § aTe o s TReT ot W9 § 9 I8 Grved &f o oY SaR W o aret Jeit
FA il HeATH Fo1 TR

(a) T % Uh-[qerE § ToRaT &l | (b) HeA UH-TeTE o aTE 3 Q@ [oRAT &l |
(c) WA U e o T SRV TRaATel | (d)  fopdlt ot fag @ Tomar &t |

FHA 9T R Y ThR T STEITCIH T FHTOT 2 & 2

(a) L - 3R (b) V- AEXH
(c) U- 3R (d) EAER
Thgt Tet sty (I <) o o st X T STt €

(a) 25-75 . (b)  150-450 .
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(c)  80-180 . (d) 75-100 .

oSt et Sty (I SH) S T T KT &

(a) T (b)  FFErIToTH

(c) Tel % @TeT Sl &HH HLAT (d) ST @t

Flood routing techniques are generally used for

(a) flood forecasting (b) design of spillways and reservoir
(c) flood protection works (d) None of the above

Graded bund is used for safe disposal of excess runoff in the area with
(a) High rainfall (b) Relatively impervious soil
(c) Low rainfall (d) All the above

Rill erosion usually begins in the
(a) lower part of land slope (b)  upper part of land slope
(c) middle part of land slope (d) entire length of the land slope

Those gullies whose dimension does not change with time are called as
(a) Active gullies (b)  U-shaped gullies
(c) Inactive gullies (d) V-shaped gullies

Drop inlet spillways are located at the place of
(a) medium gully slope (b)  high depression
(c) gully face (d) upstream area of gully

The difference in elevation between top of the dam and normal reservoir level is called as
(a) minimum free board (b) maximum free board

(c) critical free board (d) normal free board

The Manning’s coefficient of roughness for grassed channels is specifically known as
(a) Retardance coefficient (b) Coefficient of discharge

(c) Manning’s constant (d) Flow coefficient

Coarse textured soils erode mainly through

(a) surface creep (b) saltation
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153.

(c) suspension (d) None of the above

Strip cropping for erosion control is more effective when it is practiced under

(a) Terracing (b)  Crop rotation

(c) Bunding (d) Mono-cropping

G ST Fehriieh ol TFIT AT feha ST €

(a) ¢ STHM & folT (b) ToeTd wa STeer o feste &q
(c) dTg Fa=mr & &g (d) ST H G Hig &l

SO S T faTOT StfdfRart STuaTe o e & foha ST & S &7 | et

(a) SMUFHIETEATE | (b)  STUEIHT TR ot & |
(c) FAAWEAE | (d)  SRieR T

et TR 1 e SHAR TR TRET Bl §

(a) ol % TAM & (et 9T H (b) Al F T &% W B H
(c) WRATF AR S T H (d) R % FETH Sl X =S o
o g ST TR TH & T TéT SIEetl, FHeelld &

(a) Toramsicr @g (b) I-3MTHR & g

(c) TFaEg (d) dI-3THR & T
SU-3Teie feera o ST €

(a) WE& T99 ToTH W (b) TATIH SFTHA

() TEFPEHN d) T F IR AR
Jty & oY ¥ Rty o W= e 33 i Fad ©

(a) FHYHARIAE (b) sk arE

(c) ToRfeepet i g (d) THA R WS

T AMferat o ford BT T GREIU T e iR R Feet &
(a) Rerdq s (b) fewmt qories
(c) HF = feri® (d) e ot

el TR TR 3 STOREH J: B &
(a) FETHE (b) TR
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(c) TEITH (d) ST I I HIE &l

G =T & UgsR Wl (Regd ShIftT) SATRT HATEeht € AfS o8 e o 1l waiT ol Sia:

(a) & (b) & =h

(c) eI (d) THA FEA

Batter slope in bench terraces is primarily provided for

(a) Moisture retention (b) Controlling sloughing

(c) Both(a) & (b) (d) Stability to the fill material

The most suitable structure for reducing channel grades is
(a) drop spillway (b) chute spillway
(c) drop inlet spillway (d) culvert

In wet field the traction of tractor can be improved by using
(a) Bigger size of tyre (b) Additional weight
(c) Cage wheel (d) None of the above

“Tachometer” is used to measure
(a) pressure (b) power
(¢) rpm (d) All the above

The maximum noise level of a tractor near the operator’s ear should not exceed
(a) 85dB (b) 90dB
(¢) 100dB (d) 95dB

Thermostat valve is used in
(a) Lubrication system (b) Steering system

(c) Braking system (d) Cooling system

In a tractor the three point hitch is operated by
(a) PTO (b) Gear system
(c) Hydraulic control (d) Differential

Which of the following is a component of petrol engine ?

(a) Injector (b) Carburettor
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(c) Fuel injection pump (d) All of the above

The power transmitting unit of a mower consists of

(a) main axle (b) gears

(c) crankshaft and pitman (d) All of the above
591 233G H e TA I S Jd: @l STl €

(a)  THI T Yokt TG & o0 (b) AR Fa=mT & forat
(c) (a) T (b) IHT (d) e At i enfud e & fou
T ST BTt T e i T ST ST ©

(a) g feeE (b) 3 Feema

c) I T e (d) werae (Fferan)
Mol B § 2T & HYUTH GUR (6T ST GohelT &

(a) oS 3R &% TR 5N (b) e oo §RT
(c) T =IAZRT (d) SR d HIE Tél
“SHIHIET’ T 9 o foTa uieT fopa ST g 2

(a) T (b) IR

(c) wFRt/fEe (d)  SRre Fd

T % I % U SH Bl ST ol i TR TqY AT Féf T =17eq

(a) 85dB (b) 90dB
(c) 100dB (d 95dB

AT dTed hT T &I &

(a) TI& UoTer | (b) T3l vomet o
(c) SfHTyomet | (d) e yomen 8
R A 91 W o Feterd i &

(a) OIS ERT (b) TR yoTeh gRT
(c) ®TESITeTsh Ha=10T §RT (d) fehfvEesRT
TrfeiEe & @ i 91 Ueiel §7 o1 9T 8 ?

(a) TR (b) RS
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(c) T SSioR T d) I g

163. HI3R T UIaR YA JF ST &t &

(a) T U | (b) FEw
(c) = IR AR a4 (d) ST gt
164. In tractors, the wheel alignment can be adjusted by
(a) draglink (b) radius link
(c) both (a) and (b) (d) varying the length of the rod

165. The compression ratio of the diesel engine are in the order of
(@ 4:1to8:1 b)) 9:1tol3:1
(c) 14:1t020:1 (d 21:1t030:1

166. Specific fuel consumption of petrol engine is
(a) 200 gm/bhp hr (b) 290 gm/bhp hr
(c) 350 gm/bhp hr (d) 150 gm/bhp hr

167. ASAE standard PTO speed (rpm) is
(a) 536 (b) 1000
(c) 1440 (d) 2000

168. The inflation pressure (kg/cm?) in the rear wheels of the tractor for field operations vary

between
(a) 13-1.7 (b)y 22-26
(c) 1.8-21 (d 08-12

169. The most used and least efficient power outlet of a tractor is
(a) power take off shaft in the front (b) power take off shaft in the rear
(c) drawbar in the rear (d) None of the above

170. Spark plug is used in
(a) petrol engine (b) Dbiodiesel fuelled engine
(c) diesel engine (d) All of the above

171. Governor hunting occurs due to
(a) deficiency of fuel (b) inefficient working of governor
(c) combustion of excess fuel in engine (d) all of the above
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171.

Blue smoke is produced in engine due to

(a) excess fuel consumption

(b) overheating of engine

(c) combustion of lubricating oil with fuel
(d) None of the above

SHR T FIeT TATETHE i TSRS i &

(a) SUfTHE (b) Fexafasa

() (a)TM(b)IATH (d) < TS FI TETE I TZAR
EISTeT S5 o Tl SFUTd 8idl €

(@ 4:198:1 b)) 9:1913:1

(c) 14:1¥20:1 (d 21:1930:1

U2ieT §o1 ol fafeTe 9t o gt &

(a) 200 UT. YT <. T T (b) 290 TT. T ST L. HeT
(c) 350 UT. Uit <. U=, T (d) 150 7. ufq s.T=.W. &2
TUHUE WS qide T (T uid fHee) ©

(a) 536 (b) 1000

(c) 1440 (d) 2000

T&I 1 o [0 2R o [Uet Uteat § &al ol o1 (Feh. 3T, oid o7 /.41 ) BT =gy
(a) 1.3-1.7 (b) 2.2-2.6
(c) 1.8-2.1 (d) 0.8-1.2

S I Ted 31Tk T 21 STl 31X G A 8T iR aredT e &
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(c) CErETEHH (d) SR a §
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(c) 5T H Y o SATP T STeid W (d) S g

o | =iret g o fieheran &

(a) 3T 389 Sor W (b) I % AYF TH TH W
(c) ¥uT % T Teeh o SToH | (d) SR HF FE TE
Theoretical cycle on which a petrol engine works, is

(a) Carnot cycle (b) Otto cycle

(c) Rankine cycle (d) Dual cycle

The reciprocating motion of piston is converted to rotary motion of flywheel by
(a) crankshaft (b) piston
(c) connecting rod (d) All the above

Choke is used in carburettor engine
(a) before starting the engine (b) before closing the engine
(c) Dboth (a) and (b) (d) None of the above

The power outlet from a tractor for agricultural operations are
(a) by PTO shaft and power lift (b) by belt pulley arrangement
(c) by hitches and drawbar (d) All of the above

Differential in tractor increases the wheel speed while turning of
(a) both the wheels (b) inner wheel

(c) outer wheel (d) None of the above

The power developed by an average pair of bullocks is about
(a) 1.75HP (b) 1.0HP
(c) 0.75HP (d 2.0HP

If one wheel of a tractor is locked by differential lock, the speed of the other wheel is
increased by

(a) 3 times (b) 4 times
(c) 1.5 times (d) 2 times

A tractor with 21 splines PTO shaft will have standard speed of
(@) 1000 rpm (b) 540 rpm
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179.

180.

(¢) 1080 rpm (d) 1500 rpm

The differential unit of a tractor has a set of

(a) rack and pinion gear (b)  spur gears

(c) bevel gears (d) worm and gear
OZieT 5T T G iT~Ieh ok TR T e €, 39 el &

(a) HEIETH (b) 3 =%k

(c) THEAH (d) TFIFATH

ToReT <Rl T 71T ol TS SieT SRl gUTA TIid § SEetdl ©
(a) IR (b) e
(c) FATTS (d) STIeR Fqedt

HTLR S5 § ek BT T4 A &
(a) 9 L HH 9§ B (b) T I &Y A F TeeA
(c) (a)d (b) I (d) STIFTH G HIE Tal

2R gRT Al i Tt § THAHTS AT ST ST Vet (eI Fi (TR 3T8E &) &
(a) TSN IR TS BTEGIeTeh o1 R (b) =< Jelt gRT

(c) ISTh AT GHER §RI (d) IR g

2% T Higd g faeissh ufegat &l id ST 3ar &

(a) S Ufedt (b) =T oA URET i
(c) STedl ufey i (d) U H 9§ i Tl
T STTel 3G a5 & dof §RT 3cq= SIferT el &

(a) 1.75 HP (b) 1.0HP

(c) 0.75 HP (d) 2.0HP

g FeX & T Uled i FTdgeh R Ak R 1 STW o TR ufed il M o STt &
(@ 37 (b) 47T
(¢c) 1.57 (d 27T

21 TS W21 311 IR ot S ol /e 711 Brit &
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(c) 1080 TFR / e (d) 1500 TR / T

SFX & fquss gFe d s §

(a) ¥ UF Ui R o de (b) TRIERFHE

(c) oo R ae (d) o Us TR &9

Central Farm Machinery Training and Testing Institute (CFMTTI) is located at
(a) Delhi (b) Hissar

(c) Budni (d) Both (b) & (c)

In tractor the driving wheel requires power supply at
(a) low rpm (b)  high torque
(c) low rpm and high torque (d) high rpm and low torque

The most common type of cooling system found in general purpose tractors is
(a) Air cooling (b) Thermo-siphon system
(c) Open jacket system (d) Force feed water circulation system

Injection pressure of the fuel nozzle in diesel engine is
(a) 120 -200 kg/cm? (b) 50— 100 kg/cm?
(¢) 35-45kg/cm® (d) >200kg/cm?

Standard speed of P.T.O. is
(a) 2000 rpm (b) 1440 rpm
(c) 1000 rpm (d) 540 rpm

The maximum human tolerance to vibration is
(a) 8-12Hz (b) 6-10Hz
(c) 4-8Hz (d) None of the above

A two-stroke cycle engine can be operated in
(a) clockwise direction (b) anti-clockwise direction
(c) in both the directions (d) None of the above

In general the weight distribution on rear and front axle of an Indian tractor is
(a) 40:60 (b) 60:40
(c) 70:30 (d) 80:20

The kingpin inclination, in steering system of a tractor ranges from
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182.

183.

184.

185.

186.

187.

188.
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190.

(@) 15-20 degrees (b) 10— 15 degrees
(c) 6—9degrees (d) 0-—5degree

The tetra ethyl lead is added to the fuel to improve

(a) viscosity of fuel (b) cetane number
(c) flash point (d) octane number
S I HRT TTereror wef wdvetor S (CEMTTI) feera &

(a) Teoetrd (b) feomd

(©) FerrH (d) ()@ (b) <
SFX T TeT aTe Uiedl § Ve SR gl €
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(a) 40: 60 (b) 60 : 40

(c) 70:30 (d) 80:20
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(c) 69 feuit (d) 0-5fent
191. T=faiEd & | forad GuR & foiw 227 omeet oie o Mo S g ?

(a) 3o A (b) TR TER

(c) TN EET (d) 3TFRT T=R
192. Tractors are mostly equipped with high speed engines running at about

(a) 2000 rpm (b) 4000 rpm

(¢) 500 rpm (d) 6000 rpm
193. The mechanical efficiency of an engine is expressed as

HP 100 b Lo 100
@ Bpp* ® gp X
IHP — BHP
©) —mp  x100 (d) None of the above
[HP

194. In a4 stroke diesel engine during the compression stroke

(a) the inlet valve is open. (b) the exhaust valve is open.

(c) both valves are open. (d) Dboth valves are closed.
195. Tappet is a part of

(a) Engine lubrication system (b) Engine irrigation system

(c) Engine valve operating system (d) None of the above
196. Oil pump used in forced feed lubrication system is driven by

(a) camshaft (b) crankshaft

(c) flywheel (d) None of the above
197. The antiknock quality of a petrol is determined by

(a) Cetane number (b)  Octane number

(c) Knocking index (d) None of the above
198. The common firing order for 4 cylinder engine is

(a 1-3-4-2 (b) 1-2-4-3

(c) 1-2-3-4 (d) Dboth (a) and (b)
199. In tyre size 12.4 x 28, the number 12.4 represents

(a) sectional diameter of tyre (b) tyre pressure
Series-A 44

(a) 15-20 feu (b) 10-15 Eait
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198.

199.

(c) ply rating of tyre (d) Rim diameter

Which of the following sources of energy is the renewable energy ?
(a) Coal (b) Natural gas
(c) Petrol (d) Wind

ST T o S ST WTUROT: 2FX T AT ST € hi T e
(a) 2000 TFR/THAE (b) 4000 TEFRY/THAE
(c) 500 TRy (d) 6000 TFRY/ T

Teh $5T ol 117k &THeT e g gRT 20k ! STt &

3. U= o .

(a) Eﬁ—@“ﬁ x 100 (b) W—Qiﬂﬁ x 100

Reg i M Re o . .
© m%@ﬁ@ x 100 (d) I H F FE T
TF IR LIh SITel E51 § TUEA Ih & IR
(a) WA HUE Tl T & | (b) TT=hIET HUE AT TATE |
(c) Sl FUEGA WA & | (d) TAIFIEITIEAE |
2Ue T AT §
(a) ST i e YOI (b) TSI I YoSTIeTT HUTAT T
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(a) FHAARY (b) FFUET
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(a) EeH TN (b) 3T TR

(c) T s=2ar (d) U H 9§ i Tl
IR faferet o9 & yafora T e g

(a) 1-3-4-2 (b) 1-2-4-3

(c) 1-2-3-4 (d) (a)T (b) T+

T AT 12.4 X 28 W TE&AT 12.4 T et &
(a) CPR % AR A (b) TR FHIE
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(c) TR T =ATE e (d) TEwH=™

200. AR St Fidl § § DI STORERE A & ?

(a) ST (b)  VTRId T
(c) dg (d) =g

X
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